Marking scheme – Problem Solving
Energy Topic - Easy
No ½ marks to be awarded.

1. 262









2 marks

1 mark for correct working shown but incorrect answer 
i.e. (25 x 10) + (1 x12)
2. (a)
Small beaker loses more heat energy than large beaker (or shows larger temperature fall) 





1 mark

(b) Two from use the same volume of water, same temperature of water, same amount (volume or mass) or fur and wool, same sizes of beakers. 







2 x 1 mark

3. (a)
10 500







1 mark


 (b)  73 500
(accept 7 x incorrect answer to part (a))
1 mark

4. Correct order is B A D C





1 mark

5. 12









1 mark

6. (a) Pages 40 and 80






1 mark


 (b) Or gates and truth tables





1 mark

Marking Scheme – Problem Solving
Energy Topic - Moderate
No ½ marks to be awarded.

1. (a)
26%








2 marks


1 mark for correct working shown but incorrect answer i.e. 150/500 x 100


(b)
12 160







2 marks

1 mark for correct working shown but incorrect answer i.e. (130 +270) x 30.4

2. 
1 mark for correctly labelled x and y axes. E.g. ‘Source’ and Energy obtained (kJ)’



1 mark for suitable scale – must use at least half axes



1 mark for bars drawn to correct heights + or - ½ small square

3. Two from: use same volume of water, same temperature of water, same amount of (weight or mass) of peanuts and sugar.

2 x 1 mark

4. 

6








2 marks


1 mark for correct working shown but incorrect answer i.e. correct rearrangement of formula shown 12/2 = t

5. (a)
40








1 mark


 (b)
A








1 mark

Marking Scheme – Problem Solving

Energy Topic – Harder
No ½ marks to be awarded.

1. (a)
12








1 mark

(b) Temperature rises for the first three minutes until water boils  











1 mark

At this point the kettle switches off and the water temperature starts to fall






1 mark

2. 12 









2 marks


1 mark for correct working shown but incorrect answer to 0.3/2.5 x 100

3. (a) Copper releases least amount of heat, is very heavy and is the most expensive. Two from these is required.


1 mark


  (b)
Fireclay, concrete then marble. 




1 mark


  (c)
Gives out most heat energy, is cheapest and still relatively light. Two from these are required. 





1 mark

